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Value of Polynomial
polyval([1 000 1],2)

ans =
17

Roots of a Polynomial
>>roots([1 3 -15 -2 9])

ans =

-5.5745
2.5836
-0.7951
0.7860

Multiplying Polynomials
>>x=[12];

>>vy=[148];

>> 7z = conv(x,y)

Z=

1 6 16 16
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Partial Fractions

5573 +3s72-2s+7

= F(s)
-4s”"3 + 8s+ 3

>>b=[53-27];
>>a=[-4083];
>> [r p k] = residue(b,a)
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L

545 43

53-1—”[ 5v 455
>>b=[1-43];

>>a=[1430];
>> [r p k] = residue(b, a)
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Example
) N(s) s* +3s+3
Fi(s) = = T -
D(s) s*+11s'+45s° + 8ls+ 54
>>b=[133];

>>a=[11145 81 54];
>> [r p k] = residue(b, a)

r=

-1.0000
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Y541
()=
>>a=[41];
>>b=[41];

>>a=[151713];
>> [r p k] = residue(b,a)

r=

0-3 +b-\6+o-7lé73 +o-15—u-’llﬂa

01500-07167i |~ Cﬁ) = -~ S+ — — 3 1 9-1
0.1500 + 0.7167i 4 y -
53000 S+a+3) AR
L -
p= NV -
-2.0000 + 3.0000i | ausle, 16 -3
-2.0000 - 3.0000i
-1.0000 \[/
3. Distinet complex Ae’? Ae /" 24~ cos(bt — @) u
k = 3. Distinet ¢ I.li. |:5+f;+_ﬂ'; +5+f;—jh} 2A s(bt Y uit)
i
Z [t, r] = cart2pol(0.15, 0.7167)
. A3y - 136
3645 = () 5 L 07T3€ N 073<
S — ' S+9-3
) o | stax3] ;
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Exomple  RC ok
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>>b =[10 0] & \0 S

>>a=[1110" 1074]s

>> [rpk1=residue(b,a\53+ SL-\- oS+ n?

0.0005 - 0.0500i - 050 | 0-6005 +6-05'J 00605 —O-OSJ
0.0005 + 0.0500i + +

-0.0010 5 + l S +|Db3 S‘—Iooj

p:

0.0000 +100.0000i
0.0000 -100.0000i
-1.0000

[l

>> [t, r] = cart2pol(0.0005, 0.05)

1.5608 a0
1894 48y
0.0500 ~ 0-pol N 0-09 ¢ + 0-05 e
>> t*180/pi g + | < + IDDJ g —-[DOJ
ans = — W“—’_J
89.4271 Tty 10-3
| | L
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